
v vy;yh tpdhf;fSf;Fk; tpil jUf.
I

01) xU ngd;rpypd; tpiy 5/= vdpd; ehd;F ngd;rpy;fspd; tpiy ahJ?

02) RUf;Ff. 6 x 3 + 6

03) rJuj;jpd; rkr;rPu; mr;Rf;fs; vj;jid?

04) 521 ,d; ,yf;fr;Rl;biaf; fhz;f.

05) “ELEPHANT’ vd;w nrhy;ypy; cs;s vOj;Jf;fis njhilf;FwpaPl;by; vOJf.

06) 22 x 3 ,d; ngWkhdk; fhz;f?

07) 1995 vd;w tUlk; vj;jidahk; E}w;whz;L?

juk; - 07

2018

fzpjk;

Neuk; : 2  kzp

Kjyhe; jtizg;guPl;ir
Rl;nlz;

tyaf;fy;tp mYtyfk; - kd;;dhu;



08)

A vd;w vOj;J Fwpf;Fk; ngWkhdk; ahJ?

09) x Fwpf;Fk; Nfhztif ahJ?

10) (-8) + (-5.7) RUf;Ff.

11) 24 = 23 x 3
60 = 22 x 3 x5
,t; ,U vz;fspdJk; ngh.k.rpiaf; fhz;f.

12) $l;Lf.

13) a = 3, b = (+1) vdpd; a3 b2 ,d; ngWkhdk; fhz;f?

14) (-5) + (+3) vz;Nfhl;il gad;gLj;jp RUf;Ff.

15) 1250 vDk; Nfhzj;ij ghifkhdpiag; gad;gLj;jp tiuf?

-3     -2      -1      0      1       2        3

A

x

kzp     epkp
 3       38

 5       25

+



16) 4> 6> 12 Mfpa vz;fspd; ngh.fh.ng If; fhz;f?

17)

18) 1017 vd;w vz; 9My; kPjpapd;wp tFgLkh vd;gjij tFf;fhky; vt;thW
fhz;gPu;?

19) njhil A,d; %yfq;fis ,ul;il milg;gpDs; vOJf.

20) xU nfhg;gp & 13 vdpd; xU khztDf;F 2 nfhg;gpfs; tPjk; 12
khztu;fspw;F toq;f nrythFk;  gzj;ijf; fhz;f.

  (20 x 2 = 40Gs;spfs;)

II

01) a) 1. rkhe;ju Neu;Nfhnlhd;iw tiutjw;F gad;gLj;jf;$ba cgfuzq;fs; 2
jUf. (2Gs;sp)

02 1. 5 cm ePsKs;s xU Neu;Nfhl;Lj;Jz;lk; AB I tiuf.  (1Gs;sp)

2. me;j Neu;Nfhl;Lj;Jz;lj;jpy; mikahj P vDk; Gs;spia Fwpf;f.
(1Gs;sp)

3. mg;Gs;sp P Clhfr; nry;Yk; Neu;Nfhl;Lj;Jz;lj;jpw;F rkhe;jukhd
Neu;Nfhl;il tiuf. (2Gs;sp)

4. Neu;NfhLfSf;fpilapyhd nrq;Fj;Jj; J}uj;ij Gs;sp PapypUe;J
tiuf. (1Gs;sp)

5. nrq;Fj;Jj; J}uj;ij mse;J vOJf. (1Gs;sp)

   2 7 5

     1 2
   5 5
   7
 3   0 0

x

2        3
   5         7
        11

A



  b) 1. ,UGilr; rkr;rPu; cila  cUf;fs; 2 jUf.

(2Gs;sp)

2. gpd;tUk; cUf;fspd; rkr;rPur;ir tiuf.

(2x2=4Gs;spfs;)
3. rkr;rPu; cUit G+uzg;gLj;jp tiuf.

(1x2=2Gs;spfs;)

02) 1) 12 x 2 - 5 x 2 vd;w Nfhitapd; fzpjr; nra;iffs; mike;Js;s xOq;if

vOJf. (1Gs;sp)

2) RUf;Ff.

1)   2) 

(2Gs;sp)

3) 2l gor;rhw;Wf;F 4l ePu; Nru;j;Jg; gog;ghdk; xd;W jahupf;fg;gLfpd;wJ.
,g;gog;ghdj;jpy; epug;gf;$ba 2l Nghj;jy;fspd; vz;zpf;if fhl;Lk;

1) Nfhitia vOJf.

2) Nfhitia RUf;fp ngWkhdk; fhz;f. (2Gs;sp

4)  gpd;tUtdtw;iw RUf;Ff.

1)

2)

3)

(6Gs;sp)

x



03) 1)  36 ,id 6I mbahff; nfhz;l Rl;bf; Fwpg;gPl;by; vOJf.

(1x1 = 1 Gs;sp)
2) fPNo jug;gl;l Nfhitia ngUf;fkhf tpupj;njOJf.

1) 22m3

2) x3 x y3

3) Rl;bf; FwpaPl;by; vOJf.

1) y x y x y

2) 6 x 6 x p xpx p

3) a x a x b xb x b x b (1x3=3 Gs;spfs;)

4) x = 2 y = 3 vd;gtw;iwg; gujpapl;L fPo;tUk; Nfhitfspd; ngWkhdk;
fhz;f.

1) xy

2) 2x2 y3

(2+3=5Gs;spfs;)

04)  1) “tpflftp” vDk; nrhy;ypYs;s vOj;Jf;fspd; njhilia ,ul;il

milg;gpDs; vOJf.

(2Gs;sp)

2) njhilia cWjpahf tiutpyf;fzg;gLj;Jk; $w;wpid njupT nra;J

vOJf.

1) jpwikahd ghlfu;fs;

2) mofpa G+f;fs;

3) ,yq;ifapd; khfhzq;fs;   (1Gs;sp)

3) y = { 5, 10, 15, 20, 25}
1) njhil y I %yfq;fis njspthf mwpaf;$ba nghJg;gz;nghd;wpd;

%yk; tpgupf;f    (2Gs;sp)

2) njhil y ,id ntd;tupg;glj;jpy; tiff;Fwpf;Ff.  (2Gs;sp)

4)  B = { thuj;jpd; ehl;fs;}
 jug;gl;l njhilapd; %yfq;fis

1) ,ul;il milg;G>   (2Gs;sp)

2) ntd;;tupg;glj;jpy; fhl;Lf.   (2Gs;sp)



05) 1) 1900 k; Mz;L nel;lhz;lhFkh? (1Gs;sp)

fhuzk; jUf (1Gs;sp)

2) $l;Lf fopf;Ff.

(4Gs;sp)

3) epWtdk; xd;W Muk;gkhfpa jpfjp 1930.05.10 MFk;. ,e;epWtdk;

100 tUlq;fisg; G+u;j;jp nra;Ak; jpfjp ahJ? (1Gs;sp)

4) Nkw;Fwpg;gpl;l jpfjpf;Fupa ehs; KbtilAk; Neuj;ij

epakKiwapy; jUf. (1Gs;sp)

5) a) ckJ gpwe;j jpfjpia epakKiwapy; vOJf. (1Gs;sp)

b) ,d;iwa jpfjpapy; ckJ taij tUlk;> khjk;>

   ehl;fspy; jUf.

(2Gs;sp)

06) 1) 36,d; vy;yhf; fhuzpfisAk; fhz;f. (2Gs;sp)

2) 8,d; %d;W klq;Ffisf; fhz;f. (1Gs;sp)

3) gpd;tUk; vz;fspd; Kjd;ikf; fhuzpfspd;

ngUf;fkhff; fhz;f. (2Gs;sp)

1) 28 2) 72

4) 12> 18 Mfpa vz;fspd; nghJf; fhuzpfSs; ngupaij

(ngh.fh.ng) fhz;f. (3Gs;sp)

5) 12> 18 Mfpa vz;fshy; kPjpapd;wp tFglf;$ba kpfr;rpwpa

vz; ahJ? (3Gs;sp)

khjk;   ehs;

5               20

3               15
+

khjk;   ehs;

8               10

2               15
-



v vy;yh tpdhf;fSf;Fk; tpil jUf.
I

01) 3> 8> 13 ............. vd;w vz; Nfhyj;jpd; mLj;J tUk; ,U cWg;Gf;fis

vOJf?

02) nrt;tfk; xd;wpd; ePsk; 8cm mfyk; 6cm Mapd; nrt;tfj;jpd; Rw;wsitf; fhz;f.

03) 360 ,d; epug;Gf; Nfhzk; ahJ?

04)      RUf;Ff.

05) vz;Nfhl;ilg; gad;gLj;jp ngWkhdk; fhz;f.

(-3) + (+4)

06) 12.74 x 100 RUf;Ff.

07) AOB xU Neu; NfhL vdpd; x ,d; ngWkhdk; ahJ?

juk; - 08

2018
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08) 28I Kjd;ikf;fhuzpfspd; ngUf;fkhf vOJf.

09) RUf;Ff.  3x + 4 - x

10) rJuKfpapd; cr;rp> tpspk;G> Kfk; vd;gtw;iwf; Fwpg;gpLf.

11) nrt;tfk; ABCD ,d; Rw;wsitf; fhz;f.

12) & 50 ,w;F thq;fg;gl;l nghUs; xd;W & 65 ,w;F tpw;fg;gLkhapd; tpw;gidahy;

mtu; milAk; ,yhgk; ahJ?

13) ngWkhdk; fhz;f. 

14) 3 .4   kg I g ,y; jUf.

15) a = 3 vdpd; 2a2 ,d; ngWkhdk; fhz;f.

16) ngWkhdk; fhz;f.

a + 4A B

CD

a



17)

AB, CD Mfpa Neu;NfhLfs; xd;iwnahd;W O,y;
,ilntl;Lfpd;wd vdpd; x,d; ngWkhdk; ahJ?

18) cUtpy; a ,d; ngWkhdk; ahJ?

19) $l;Lf. 0.01 + 0.001

20) 64cm2 gug;gsitf; nfhz;l rJuk; xd;wpd; Rw;wsT ahJ?

II

A C

D B

 2x -10 x + 25

P

Q R

65

50a

   01) a)

khztd; xU tFg;giwapy; fw;w tplaq;fis mbg;gilahff; nfhz;L gpd;tUk;
re;ju;g;gq;fspy; jug;gl;l nghUl;fspd; tpiyfisf; fzpj;J gpd;tUk; ml;ltizg;
G+uzg;gLj;j Kaw;rpj;jhd;. ePu; ml;rufzpjf; Nfhitfs; gw;wpa mwpitg; gad;gLj;jp
ml;ltiziag; G+uzg;gLj;jp cjtTk;.

5 kg kh
3 kg gUg;G
500g muprp
2kg muprpAk; 5kg khTk;
1kg muprp> 1kg kh> 1 kg gUg;G
........... kg muprp
............. kg kh
.............kg khTk; ............. kg gUg;Gk;

thq;fpa nghUspd; msT nrytpl;l gzk;

.......................................

.......................................

.......................................

.......................................

.......................................
7 x
120
60 + y/2

 

muprp & X
1kg

 

kh & 80/-
1kg

 

gUg;G & Y
1kg

(1 + 1 + 1 + 2 + 3 + 1 + 1 + 2 Gs;spfs;)



b)  milg;G ePf;fp RUf;Ff.
1) 3 ( x +5)  =

2) - 2 (7 - x)  =

3) 3x (2x - y)  = (1 + 1  + 2 Gs;spfs;)

02) RUf;Ff.
1) (+7) + (+2) = 2) (-5) + (-4) + (-1) =

3) (-5) + 3 = 4) 5 + (-3) =

5) (-7) - (-2) = 6) (-5) - (+2) =

7) -61/4) - (-11/4) = 8) (-3.5) x 4 =

9)  = (1 + 1 + 1 + 1 +1 + 1 + 1 + 1 + 3 Gs;spfs;)

03) 1) jpzpit msf;Fk; myFfs; 2 jUf. (2Gs;sp)

2) ,ilntsp epug;Gf.
a) 4500g = ................ kg (1Gs;sp)

b) 2500 mg =  .............. g ........... mg (1Gs;sp)

3) jPu;f;f

a) b) c)kg      g
8     4 2 0

2     3 4 5

+
t        kg
7     2 6 0

5     5 4 0

-

t        kg
6     2 7 5

             6

x

(1Gs;sp) (2Gs;sp) (2Gs;sp)

4) 8t 200kg jpzpTila muprpia 4 FLk;gq;fSf;F rkkhf gfpu;e;jspf;fg;gl;lhy;
xU FLk;gj;jpw;F fpilf;Fk; muprpapd; msit kg,y; jUf.

(2Gs;sp)



04)

a)

1) mLj;J tUk; cUit tiuf. (1Gs;sp)

2) ,J vt;tifahd vz;NfhykhFk;? (1Gs;sp)

3) 6tJ cUtpy; vj;jid Gs;spfs; fhzg;gLk; (1Gs;sp)

4) ,t; vz;Nfhyj;jpd; nghJ cWg;ig
(nMk; cWg;G) vOJf. (1Gs;sp)

5) ,t; vz; Nfhyj;jpy; 121 vj;jidahk; cWg;G vdf; fhz;f.

(2Gs;sp)

b)  Kf;Nfhz vz;Nfhyj;jpd; nghJ cWg;G     MFk;.

1) ,t; Nfhyj;jpd; Kjy; 5 cWg;igAk; jUf. (2Gs;sp)

2) 15tJ Kf;Nfhz vz; ahJ? (1Gs;sp)

3) 55 vj;jidahtJ Kf;Nfhz vz; (2Gs;sp)

05)
a) gpd;tUk; cUf;fspd; Rw;wsitf; fhz;f.

1) 2)    3)

    (1x3=3Gs;sp)

6

4 6cm



b) gpd;tUk; $l;Lj;jsTUf;fspd; Rw;wsitf; fhz;f.

1) 2)

( 2 x 2 = 4 )

c)  12cm gf;f ePsKila rJutbt cUtk; xd;W fk;gpapy; Mf;fg;gLfpd;wJ.
 mNj fk;gpia ghtpj;J rkgf;f Kf;Nfhzk; xd;W   Mf;fg;gl;lJ.

1) rJuj;jpd; gug;gsT ahJ? (2Gs;sp)

2) Kf;Nfhzpapd; xU gf;f ePsk; ahJ? (2Gs;sp)

06) 1) gpNsw;Nwhtpd; jpz;kq;fs; ,uz;bd; ngau; jUf. (2Gs;sp)

2) NkYs;s jpz;k cUtpd; ngaiuj; jUf. (2Gs;sp)

3) NkYs;s jpz;k cUtpd; cr;rp> Kfk;> tpspk;G vd;gtw;iwj; jUf.
(3Gs;sp)

4) ,jid xapyupd; njhlu;Gld; tha;g;Gg; ghu;f;f
(2Gs;sp)

5) gpd;tUk; jpz;k cUf;fspd; Kfq;fspd; tbtq;fisj; jUf.
jpz;k cU Kfq;fspd; tbtk;

a) rJuKfp ......................................

gd;dpUKfp ......................................

,UgJKfp ......................................

ehd;Kfp ...................................... (2Gs;sp)

4

6

4
5

3



PART I
v Answer all the questions

01) if the cost of one pencil is Rs 5/-, What is the cost of four pencils?

02) Simplify
6 x 3 + 6

03) How many axes of symmetris  does a square have?

04) Find the digital index of 5214

05) Write the letters in the word “ELEPHANT” in a setnotation

06) Multiply  22 x 3

07) What order is the cardinal centenary year 1995?
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08)

What is the value of “A”?

09) What type of angle ‘X’

10)  Simplify  (-8) + (-5.7)

11) 24 = 23 x 3
60 = 22 x 3 x5
Find the least common multiple (LCM) of the above two numbers

12) Add

13) If a = 3, b = (+1) find the value of  a3 b2

14) Simplify by using a number line  (-5) + (+3)

15) Using protractor, draw 1250

-3     -2      -1      0      1       2        3

A

x

Hour         minute
 3       38

 5       25

+



16) Find the Highest common factor (HCF) of 4,6,12

17)

18) Find the divisibility of the number 1017 by 9 without divided

19) Write down the elements of the set A with curly bracket.

20) if an exercise book is cost Rs. 12/= What is the cost of the exercise books for
12 people each per two books?

  (20 x 2 = 40marks ;)

PART I I
v Answer only  5  questions including first.

01) a) 1. Name 2 equiptments used to draw a parallel straight line
(2Marks)

02 1. Draw a 5cm  line segment  AB

2. Mark a point P which is not situated on AB
(1 marks)

3. Draw a straight line which go through P and that must be parallel to AB
(2marks)

4. Draw a perpendicular  line between the staraigh
lines from the point  p (1 marks)

5. Measure the perpendicular distance and write (1 marks)

   2 7 5

     1 2
   5 5
   7
 3   0 0

x

2        3
   5         7
        11

A



 b) 1. Name two bilateral symmetrical figures (2marks)

2. Draw the symmetrical axis of the given figures

(2x2=4marks)
3. Complete the given symmetrical figure

(1x2=2marks)

02) 1) Write the order of the mathematical operition  seen in the given algebraic
expression 12 x 2 - 5 x 2 (1marks)

2) Simplify
1)   2) 

(2marks)
3) 4 liters of water was added into 2 liters of fruit Juice

1) Write the algebraic expression which is used to find out the number of
2 liters  bottles needed to fill the above mixture.

2) Simplify  the above expression and find the value (2marks)

4) Simplify

1)

2)

3)

(6marks)



03) 1)  Write 36 with the base of 6
(1x1 = 1 marks)

2) Expand
1) 22m3

2) x3 x y3

(2 marks)
3) Writedown each of the following expressions using index notation

1) y x y x y

2) 6 x 6 x p xpx p

3) a x a x b x b x b x b (1x3=3 marks)

4) If x=2 and y = 3 find the values of given

1) xy

2) 2x2 y3

(2+3=5marks)

04)  1) Write down the elements of the set “Volvo” in a curly bracket.
(2marks)

2) Among the statements which define  the term ‘set’ properly
1) Intelligent singers

2) Beautiful flowers

3) provinces of SriLanka   (1marks)

3) y = { 5, 10, 15, 20, 25}
1) Write down the set P in terms of a common property of its elements.

(2marks)

2) represent the set y by a venn diagram (2marks)

4)  B = { Days of a weak;}

1) Write down the elements of B within curly bracket (2marks)

2) Represent the set B by a venn diagram.   (2marks)



05) 1) Is the year 1900 a leap year?
Give the resons (1marks)

2) Add Subtract

3) A company was started on 1930.05.10. Find out the date when this company
reached its century (1marks)

4) Write the standred time of the above end of the date. (1marks)
5) a) Write your birth date in standred format (1marks)

b) Write your birthday in years, month and date (2marks)

06) 1) Write all factors of  36 (2marksp)

2) Write 3 multiples of eight (1marks)

3) Write the prime factors of (2marks)
1) 28 2) 72

4) Find the highest common factor (HCF) of 12,18 (3marks)

5) Find the smallest number which divide 12, 18 without remaining.
(3marks)

Month     Day

5               20

3               15
+

Month     Day;

8               10

2               15
-



PART I
v Answer all the questions

01) Write the next two terms of the number sequence 3,8,13,.......,..........

02) If the length of a rectangle is 8cm and its breadth is 6cm, find its peremeter

03) Find   the complement angle of  360

04) Simplify    

05) Fing the value by using a number line
(-3) + (+4)

06) Multiply   12.74 x 100

07) If   AOB  is a straight line find the value of x

A BO
x 1280
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08) Write 28 as products of  prime factors.

09) Simplify .  3x + 4 - x

10) Mention the number of vertices, edges and faces of a cuboid.

11) Find the perimeter of the given rectangle ABCD

12) If a person bought a material to Rs.50  and sold it to Rs.65  find his profit.

13) Find the value of   

14) Express 3.4 kg in gramms

15) If  a =3,  find the value of 2a2

16) Find the value of

a + 4A B

CD

a



17)

AB and CD are straight lines which  intersect at  ‘O’
Find the value of  X

18) Find the value of a in the given figure

19) Add 0.01 + 0.001

20) If the area of a square is  64cm2, find its peremeter.

PART II
v Answer only  5  questions including first one

A C

D B

 2x -10 x + 25

P

Q R

65

50a

O

   01) a)

A Student try to eveluate prizes of things use to basic knowlgdge of alegebraic expressions
and mark the following  table complete this table.

5 kg flour
3 kg Dhal
500g Rice
2kg Rice, 5kg flour
1kg Rice> 1kg flour > 1 kg Dhal
........... kg Rice
............. kg flour
.............kg flour,  ............. kg Dhal
;

               Amount of things Required money

.......................................

.......................................

.......................................

.......................................

.......................................
7 x
120
60 + y/2

 

Rice Rs. X
1kg

 

Flour  Rs. 80/-
1kg

 

Dhal Rs. Y
1kg

(1 + 1 + 1 + 2 + 3 + 1 + 1 + 2 marks)



03) 1) Write 2 units used to measure mass. (2marks)

2) Fill in the blanks
a) 4500g = ................. kg (1marks)

b) 2500 mg = .................. g ........... mg (1marksp)

3) Simplify
a) b) c)kg      g

8     4 2 0

2     3 4 5

+
t        kg
7     2 6 0

5     5 4 0

-

t        kg
6     2 7 5

             6

x

(1marks) (2marks (2marks)

b)  Remove   brackets  and  Simplify
1) 3 ( x +5)  =

2) - 2 (7 - x)  =

3) 3x (2x - y)  = (1 + 1  + 2 marks)

02) Simplify

1) (+7) + (+2) = 2) (-5) + (-4) + (-1) =

3) (-5) + 3 = 4) 5 + (-3) =

5) (-7) - (-2) = 6) (-5) - (+2) =

7) -61/4) - (-11/4) = 8) (-3.5) x 4 =

9)  = (1 + 1 + 1 + 1 +1 + 1 + 1 + 1 + 3 marks ;)

4) If 8t 200kg mass rice is divided equally into 4 families, find the amount of
rice in kilogramms which is given to one family.

    (2marks)



04)
Figure 1        Figure 2         Figure 3                  Figure 4

a)

1) Draw the next figure (1marks)

2) What type of number pattern is shown above? (1marks)

3) How many dots (.) can be seen in 6th figure (2marks)

4) Write the general term of this number pattern (1marks)

5) Which term is 121 in this sequenec (2marks)

b) The general term of a sequence of triangular number can be written as

1) Write first five terms of the above triangular number pattern.  (2marks)

2) Write the 15th triangular number (1marks)

3) Which triangualr number is 55 (2marks)

05)
a) Calculate the perimeter of the following figures.

1) 2)    3)

(1x3=3Gs;sp)

6cm

4cm 6cm

4.5cm



b) Find the perimeter at the given diagrams.

1) 2)

( 2 x 2 = 4 )

c)  A square which its length  was 12cm made by using a piece of write. Then
equivalent triangle also made by using the same piece of wire

1) Find the area of that square ? (2marks)

2) Find one side length of  triangle (2marks)

06) 1) Name 2 platonic solids (2marks)

2) Name the given figure (2marks)

3) Find the number of vertices, edges and the faces of the above solid
(3marks)

4) Show that this solid agrees with the Euler’s relation
(2marks)

5) Complete the given chart
Figure                Shape of the face

a) Cuboid ......................................

Dode cahedron ......................................

Icosahedron ......................................

Tetrahedron ...................................... (2marks)

4

6

4
5

3



PART I
v Answer all the questions

01) if the cost of one pen is Rs. 10, what is the cost of 5 pens?

02) Simplify        

03) Convert 1.5 kg in gramms

04) Find the value of y

05) Simplify .

06) Simplify    

07) Find the primeter of the given diagram

08)  Fill in the blanks 3 : 4 = 15 :

09)  If   ,    Find the value  of  

700

500 Y

10cm

10cm

-01-

GRADE - 09

2018

MATHS

TIME :  2 1/2 HOURS

1ST TERM EXAM
INDEX  NO

ZONAL EDUCATION OFFICE - MANNAR



10) How many vertices and edges are their in a tetrahedron

11) Simplify  101 
two

 + 11 
two

12) Find the value of   (-1)8

13) if the area of a square land is 144m2 find its length

14) What is the complement  angle of    X0

15) A = { Prime number in between o to 10} write the elements of A

16) Expand   (X + 3) (X - 2)

17) Simplify    

18) Write in asscending order   

19)  Find the least common multiple   (LCM)  of   

20)

Find  the capacity  in liters.

(20 x 2 = 40 Marks;)

2m

1.5m
3m
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PART II

v Answer only  5  questions including first one
01) A studnt bought a square pieces of cloth which has the length of x units.

1) Find the area of that piece of cloth

2) if he removes 2 units in one side,  what is the shape of the cloth

3) Write the algebraic expression to show the breadth of the cloth

4) Draw the diagram of the cloth which you remove two units in one side and

mention to the length and breath on behalf of x

5) Write the area of remain piece cloth in algebraic expression

6) Write the area of the cloth which removes in algebraic expression

7) If the area of removing piece is 6 square unit find out the length of the cloth that

the student bought.

8) Find tha area of the clloth that the student bought.

(2 x 8 =16Marks ;)

02) a) A student Bastrian deposit Rs.2000  in a bank. Then in every months he

deposit more than Rs. 500/-  in earlier month.

1) How much of money he  deposits in first four months

2) How much he deposits in nth month

3) What amount of money deposit on 7th month

4) When he deposit   Rs.10000

b) Show  that (-80) is not a term of the sequence which general term is 3n+5

    (2 + 2+ 2+ 2+ 3+ = 11 Marks ;)

-03-



03) a) Simplify 1) 32 x 36

2)   , write as the product of indices

b) Simplify 1)  

2) Write the answer in simplest  form

3)

(1 + 2+ 2+ 3+ 3 = 11 Marks )

04) Ravi spend Rs. 200  to make an ornament He gives it to a business man to 220/=

That business man  marked the price as Rs.250/=  But he gives  10%  discount to the

marked price because of damage.

1) How much of profit  Ravi got?

2) Write the percentage of  profit  that Ravi got.

3) How much the Discount he gave

4) What is the selling price of that ornament

5) Who get more profit  write reasons.

(2 + 2+ 2+ 2+ 3+ = 11 marks)

05) A) factorize  the following algeraic expressions.

1)

2)

3)

4)

    (4 x 2 = 8marks;)

b) If     find the value of  

(3marks)

 divide by of;
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06)

a) Find the value of   

(2marks)

b) Find the valu of  a

(2marks)

c) 1)  Write an alternate angle of   

2)  Find the value of  

3)   What is the value of  

(1+2+2= 5marks;)

d)

Find the value of   ;

(2marks;)

350

3a 3a

2a a

>

>

A BP

Q
C D

Y

X

>

>

1300

1200

650

x
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